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Note : Answer questions from all three sections as

per instruction given in each Section.

Section—A

Note : Attempt any two questions from this

Section. 2×20=40

1. “Strong linkages between agricultural sector

and industrial sector are required for long

sustained growth of an economy.” Explain these

linkages.
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2. With economic growth how do the following
change ?

(a) Composition of Gross Domestic Products

(b) Occupational structure

3. How does ‘Consumption-led-growth model’
differ from the ‘Investment-led-growth model’ ?
Explain the major features of the growth model
adopted in India since 2001.

4. What is ‘Infant industry argument’ ? In light of
this, argue the case for ‘Protectionism’ in an
emerging economy.

Section—B

Note :Answer any four questions from this
Section. 4×12=48

5. Examine the principal factors that determine
location of industries.

6. “Industrial growth model adopted in India is
responsible for regional disparities in India.”
Comment.
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7. Why was the industrial licensing system

abolished in 1991 ? Examine the results of this

policy initiative.

8. What do you mean by ‘Privatization’ ? Is

disinvestment of PSUs the only road to

privatization ?

9. Distinguish between the following as sources of

foreign exchange inflows :

(i) FDI

(ii) Remittances

(iii) FPI

10. Examine the impact of industrialization in

India on the following :

(a) Poverty

(b) Unemployment

(c) Environment
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Section—C

11. Write notes on any two of the following :

2×6=12
(a) NITI Aayog

(b) Make in India

(c) Start-ups

(d) Information Technology
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